Lossless Transmission Line Model

Lossless implies:
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Characteristic impedance:

Note: R, L, G, C are given per unit length and depend on geometry
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Transmission Line Parameters for different line types
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Characteristic Line Impedance Z, Q

Microstrip line
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What is avoltage reflection coefficient?
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z=-[ 0
7 G=1 (Z.®¥)
Reflection coefficient G = Z - Z,
at the load location Z, +Z, G=-1 (Z, ® 0)
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Standing Waves
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Standing wave ratio

20
181
16
141

Q-/d 127

Z 10
gl
6L
4
7L
0

0 01 02 03 04 05 06 07 08 09 I
Tl

SWR is a measure of mismatch of the
load to the line

SWR=1 (matched) or SWR ® ¥ (total mismatch)
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